
1. 3 x 3 means three groups of three objects. 

3+3+3=? _______  

A. 6 

B. 3 

C. 9 

D. 18 

  



Try Again 

  



Correct Go to the Next Question 

 

  



2.3 x 4 means three groups of four objects. 

4+4+4=? _______  

A. 8 

B. 12 

C. 16 

D. 4 

  



Try Again 

  



Correct Go to the Next Question 

  



3. 3 x 5 means three groups of five objects. 

5+5+5 

A. 15 

B. 25 

C. 10 

D. 5 

  



Try Again 

  



Correct Go to the Next Question 

  



4. 3 x 6 means three groups of six objects. 

6+6+6=? ______ 

A. 12 

B. 16 

C. 22 

D. 18 

  



Try Again 

  



Correct Go to the Next Question 

  



5. 3 x 8 means three groups of eight objects. 

8+8+8 

A. 24 

B. 20 

C. 28 

D. 18 

  



Try Again 

  



Correct  

 


